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SECTION A

Answer ALL questions.

1. (a) Figure 1 depicts a particular active transport mechanism in which specific ions are bound
and released.
® @)
o
o ©

Figure 1. Diagrammatic representation of an active transport mechanism
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(i)  Name the active transport mechanism shown in Figure 1.
[1 mark]
(if)  Describe the activitiesat 1, 2, 3, 4, 5 and 6 in Figure 1.
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[6 marks]
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(b) (i)  Name the photosynthetic process which occurs in the stroma of the chloroplast.
[1 mark]
(i)  What is the difference between cyclic and noncyclic photophosphorylation?
[2 marks]
(iii)  Briefly explain why the Calvin cycle requires ATP and CO,,.
[2 marks]
(c) (i)  Explain why photosynthesis is faster in C4 plants than in C3 plants.
[2 marks]
(i1)  Why do C4 plants have better water use efficiency than C3 plants under high light
intensity and high temperatures?
[1 mark]
Total 15 marks
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2. There are several gated communities developing throughout the islands of the Caribbean. The
attractions of these modern dwelling centres are the green spaces, which include rooftop farming,
and other urban and peri-urban agriculture practices. In many instances, natural flora is destroyed
to establish the gated communities.

(a) Explain TWO ways, other than aesthetic value, in which green spaces may contribute to
the environment.

[4 marks]

(b) Describe TWO factors that should be considered when choosing a site for a rooftop garden.

[4 marks]
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(c) Explain TWO economic benefits of rooftop farming.
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[4 marks]

(d) Suggest THREE aesthetic values that families in the gated communities derive from the

rooftop farming.
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[3 marks]

Total 15 marks
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3. @ State what is meant by a ‘transgenic organism’.
[1 mark]
(b) Explain TWO disadvantages of genetically modified organisms (GMOs).
[4 marks]
(c) Identify FOUR advantages of GMOs.
[4 marks]
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(d) Briefly describe THREE advertising and promotion strategies that could be used to introduce
genetically modified foods to the Caribbean.
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[6 marks]

Total 15 marks
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SECTION B
Answer ALL questions.
4. @) The horticulture industry consists of several different types of commercial operations.
Identify ONE example of a businessperson in support services and ONE example of a

businessperson in marketing, for a named type of horticulture. For EACH example, state
TWO functions of the businessperson.

[6 marks]
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(b) With reference to any THREE practices used in greenhouse production of vegetables,
explain how these practices could be improved to lower costs, in order to make production

more profitable.
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[9 marks]

Total 15 marks
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5. (a) Suggest FIVE ways in which a turfgrass surface contributes to the playing and to the
spectatorship of cricket.

[5 marks]
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(b) Explain FIVE practices used in the maintenance of turfgrass that enhance the quality of
cricket fields.
[10 marks]
Total 15 marks
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6. Discuss the contribution of seed production, mist propagation and micropropagation techniques
to agriculture in the Caribbean.
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[15 marks]
Total 15 marks
END OF TEST
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